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UeD9 MCR 3UI Solving Trigonometric Equations - part 2
Warm Up: Solve for 6 for 0° < 8 < 360°
a) 2cosf = cosf —1

Acos®-cosO = -1 N

cosd = —| _L
0=\3°| ~/

b) sin%6 - 2sinf + 1 = 0

(sin® = 1) (sin-1)=0

sInB=] A
®=40°
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UeD9 MCR 3UI Solving Trigonometric Equations - part 2

To solve trig equations you generally must only have one type of trig
function in the equation.
Use your trig identities to simplify the equation.

I p\/%agor‘ean Iden’r'l-l-y SincO +c050= |

a Qu otrent 1c\e.n3r‘\~|—)1 +an O _ zlgr; 2

a Reciprocal 1o\ewh+>/ csc®_ | secO_ | _

Sin® ~ cosd
Example 1: cot® _
a)secd = -2 n&

Yake vreciprocal
Cos8- =L 2 o both sides

B =0 T—H_)g

9: l‘aDo oR Q"\'Oa

b) cscf = V2

: S A
md_ L
S = ,%ﬂ;
B =15°

9:' L\FSO oR \35a
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ueD9 MCR 3UI Solving Trigonometric Equation

) sinfsecd = V3 ’ﬁl
c':‘;me —,—\:E /Mﬁ "0

coso O=00 o2 QUO
snd _ 3
cos®
+anb = {3’

d) 6 cos?0 - sinf-4 =0

\ - (o) | :l

(pi 5\!\@ sin@-H=0 Sng "' & Sin® 2

_ 30°

(D" (bn? B-—s\AG-‘-\-:O Q;_‘"qu 3>’D?[:l"
— (b a 9—9;,9-\-2 @) m-—\l‘z T-p\q:

bo®+5nE =2 =0 5 Jo 022" 30,

(3 sind +R)(93W or 150

e) 2sinfsec6 + secf — 2sinf —1 =10

Sec®(sin®+1)~(25ia®+1) =0
@ec& DN(asin®+) =0
secO=] asin® =~1
cosO =1 3in®- % )@l\
1* . 6 = 30° T e

8=0",360", AID oR 330"
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U6D9 Practice: Page 408-4@0 #3bdg, 5def, 11(fattor by grouping). Solve
w Practice: p. 4 , 20 degrees only,
21 (a- period=540°, b — period=180°), 22, 24 25ab 26 27b (n/4=4°,
n/2=90°), 30, 31, 35-37 (in degrees — teacher will provide answers for
35,36, 37
(fsos—

p. 418 #4cd, 7ab, c(phase shift 45°), 8a, 12(in degrees, teacher will

provide answers) (eoo), 9

A few more review questions

Function Domain Ra nge Ampli | Period Phase
tude Shift

y = 2sin(x — 90°)

y = Ycos(x + 90°)
y = Yasin( % x — 180°) — 2
y = 2cos%(x — 180°) + 1
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